EAGRAROBREERT — 2 N— ABISH —F

202054 A58 (B) 1m£E2H

PN 3 — 480 SR 3% (xwlw | mEmml - |5 6) o 8
[AE4£] 1% :320,000"  23%&:9,000H”  3#%&:51,000M  437&:26,000MH . 573%&:19,000
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
R HZKFRA :30. -1-1- . — neE (£8)
1 X 2 YINF B A 4 3 i}éS.O 1(3_0)9 11| 988 ! ‘g? EA?D#/\ .
L:ErFOvY BG4 TrNTa ® %%
: £ 3 | BER 1:31.2 3-3-3-3 |38.8| — 2 431 | =BEAN (EE)
2 1| Y—raqriL 77| 5.0 (1 1/2) ) | BB
SR GAVIZN N = Hiu B 1y R A 3 BT 7 — L
B — . HARMR : 00— — EAET (58)
 : MEELPEEET: 3 o 1.(311>.4 2-2-2-2 | 39.2 1 &5) pEE 5
LUTNALNT N BYYUERF—Sp s
. = 4 3 =i 1:31.7 5-4-4-4 | 39.2| — 3 449 | IWEZEA (1£H)
4 KRY 3 TINIL—F — 54.0 (1 1/2) +1) BAET
RN—5—-y7 B:ovLO—%9 HRREt WEKS
£ = 4 3 | EPHE 1:31.7 6-6-6-5 |38.9| — 6 435 | WL (1£H)
5|55/ 77707 54.0 () G |EEES
R:d—IRYy 7 B:OXEI-IL EXstie]
=50 HEAE :32. —-5-5- . — HHFEE (EE)
6 g| EVT>N—L— Y A53.0 ! 352)6 556 |28 ! (4+210) FEREE -
R:TIvva%y—F B:h7M3F willl 8l
A B 3 | WTHE 1:33.4 7-7-7-7 | 39.6 | — 5 467 | RBRE (1£H)
7lglg|A>IAT 540 4) (-5 |HOEA .
d /v Te BiSAY—/—2X K H&
) D S P =B # 3 | HPEA 1:37.2 8-8-8-8 |42.7| — 8 466 | LIETE (£H)
8|77 IR 74T 56.0 (54%) 9) (%) Al
LR +AT B:ILAHCRI—LER e Ih#t
@ 1—F—@&BIEf
13—4— 2,4,1,6,3,5,8,7
23—+ — 2,4,1,3,6,5,8,7
30—7+— 2,4,1,3,6,5,8,7
41—+ — 2,4,1,3,5,6,8,7
[ RN
B OB 2 940 714K 1-2 500M B = 1-2 2,030M 3ER 1-2-4 1,100MH
1 B 2 170 2-4 390M B H 2-1 2,920M JEH 2-1-4 8,280
1 110M 1-4 250M
4 1004

ARICOVWTRDTEEERROODE. TR LI,




